Mother Teresa Catholic College



ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "RYT9" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY ONLY

Your home delivery order will be dispatched for FREE no later than the week ending 19th January 2024 but where possible will be dispatched earlier if placed on or before the return date of Friday 15th December 2023.

Orders placed after the 15th December will incur a late fee of up to \$17.50. Please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided

☑ Item Item Qty Unit Total No. Reqd Reqd Price \$ Amount \$

YEAR TEN

Description

Office Use

Please note that there are digital products (eCode or cCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

Please allow sufficient time for digital resources to be processed and made available to the student after purchase. When ordering after the return due date some items may go to backorder and need to be reordered from the supplier.

Students can use items from previous years if they are still in good condition.

ADDITIONAL COSTS - The following items will be invoiced by the College in February and distributed directly to the students in Term 1.

1 x MTCC Student Diary Fee - \$20.00

STATIONERY

	(You may retain products from previous years)				
P58510	Eraser Plastic Pencil Large With Sleeve	1	1	0.40	0.40
P51290	Highlighters Pkt 4 Cols 70/ 4 Stabilo Boss	2	1	10.95	10.95
P56095	Pen Ballpoint Cap Type Blue Medium	3	4	0.35	1.40
P56096	Pen Ballpoint Cap Type Red Medium	4	2	0.35	0.70
P50271	Pencil (HB) Goldfaber	5	2	0.65	1.30
P60067	Pencil Case 345x140mm Mesh	6	1	4.95	4.95
P58537	Pencils-Coloured 12's Faber Classic Colour	7	1	6.45	6.45
P56414	Ruler 300mm Plastic Clear	8	1	0.75	0.75
	CAREERS				
P52232	Trifold Portfolio A4 Student Black - Personal	9	1	19.20	19.20
	CHILD DEVELOPMENT				
	No additional items required.				
P55469	Display Book A4 20 Pocket Blue Non-Refillable	10	1	4.95	4.95
	CREATIVE WRITING				
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	11	1	1.65	1.65
P50510	Display Book A4 20 Pocket Mid Blue Refillable	12	1	2.15	2.15

DANCE

Students need to purchase:

- short sleeve black leotard and leggings (female)
- · short sleeve black t-shirt and black shorts (male).

These items are not available from Campion and will need to be purchased elsewhere.

DESIGN TECHNOLOGIES - METAL

Apron will be supplied by the College.

Students enrolled in Design & Technology subjects need to have eye protection and all safetyglasses must meet the Australian Standard AS/NZS 1337 or retain from previous year.

Students enrolled in Design & Technology are required to wear closed in Leather Shoes.

DESIGN TECHNOLOGIES - WOOD

Apron will be supplied by the College.

Students enrolled in Design & Technology subjects need to have eye protection and all safetyglasses must meet the Australian Standard AS/NZS 1337 or retain from previous year.

Students enrolled in Design & Technology are required to wear closed in Leather Shoes.

DIGITAL TECHNOLOGY

No additional items required.

DRAMA

Students need to purchase:

stage blacks (long sleeve black t-shirt and black pants).

These items are not available from Campion and will need to be purchased elsewhere.

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
						_
	ENGLISH					
P02067	Animal Farm (Penguin) [Orwell, George]	13		1	22.99	22.99
P50452 P50371	Binder Book A4 96 Page 8mm Premium with Margin Spirax	14 15		1	1.65	1.65
F30371	Display Book A4 20 Pocket Cool Frost Blue Refillable (Retain from previous year. Replace if required. There is no specific colour re	15 quireme	nt.)	1	2.15	2.15
	FOOD					
	1 x Large Plastic Container with tight fitting lid (e.g. 1.8L Sistema rectangular 1x 3 Piece Cutlery Set (Fork, Knife and Spoon).	containe	er).			
P55470	Display Book A4 20 Pocket Green/Lime Non-Refillable	16		1	4.95	4.95
	HASS					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	17		1	1.65	1.65
P55446	Display Book A4 20 Pocket Green Refillable	18		1	2.15	2.15
	(Retain from previous year. Replace if required. There is no specific colour re	quirerne	rit.)			
	HEALTH					
P50670	Display Book A4 20 Pocket Clear Cover Blue Refillable	19		1	2.30	2.30
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	20		1	1.65	1.65
	HISTORY					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	21		1	1.65	1.65
P55446	Display Book A4 20 Pocket Green Refillable	22		1	2.15	2.15
	INDONESIAN					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	23		1	1.65	1.65
P55442	Display Book A4 20 Pocket Black Refillable	24		1	2.15	2.15
	MATHEMATICS					
C06117	Mother Teresa CC Mathspace Digital Subscription Year 10 Please provide payment to Campion. Access to online subscription will be pro-	25 ovided in	DIGITAL ITEM	1	28.05	28.05
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	26		1	1.65	1.65
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	27		1	41.95	41.95
	(Retain from previous year. Replace if required.)					
P50561	Display Book A4 20 Pocket Clear Cover Grey Refillable	. 28		1	2.30	2.30
P54143	(Retain from previous year. Replace if required. There is no specific colour re Graph Book A4 96 Page 5mm Spirax #131	quireme 29	nt.)	1	2.00	2.00
101110	· · · · · · · · · · · · · · · · · · ·	23		'	2.00	2.00
P55158	MEDIA	20		4	0.45	0.45
P50374	Binder Book A4 128 Page 8mm Premium with Margin Spirax Display Book A4 20 Pocket Cool Frost Purple Refillable	30 31		1 1	2.15 2.15	2.15 2.15
P51037	Memory Card MicroSDHC 64GB UHS-1 U3 with SD AdaptorNO RETURN	32		1	42.95	42.95
	MUCIC		_			
P50452	MUSIC Binder Book A4 96 Page 8mm Premium with Margin Spirax	33		1	1.65	1.65
P56176	Pencil (2B) Copperplate	34		2	0.55	1.10
P50444	Music Book A4 96 Page Ruled & Staved Spirax 244	35	<u> </u>	1	2.55	2.55
	OUTDOOR EDUCATION					
	Students need to purchase:					
•	 snorkel and flipper set (Optional) over shoulder water container (eg Camelback) 					
	These items are not available through Campion and will need to be purchase	d elsewł	nere.			
	DE MA IOD					
P50452	PE MAJOR Binder Book A4 96 Page 8mm Premium with Margin Spirax	36		1	1.65	1.65
	Z Zeek. 11 00 1 ago o 1 oam wan margin opilax	00		•	1.00	1.00

Please tick the items required in the box provided \downarrow

Office Use	Description	Item No.	☑ Item Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	PHYSICAL EDUCATION					
	No additional items required.					
	SCIENCE					
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	37		1	1.65	1.65
P52000	Calculator Casio Scientific FX-82AU Plus II 2E	38		1	41.95	41.95
	(Retain from previous year. Replace if required.)					
P55442	Display Book A4 20 Pocket Black Refillable	39		1	2.15	2.15
	(Retain from previous year. Replace if required. There is no specific colo	our requireme	nt.)			
P54143	Graph Book A4 96 Page 5mm Spirax #131	40		1	2.00	2.00
	RELIGIOUS EDUCATION					
P55442	Display Book A4 20 Pocket Black Refillable	41		1	2.15	2.15
	(Retain from previous year. Replace if required. There is no specific colo	•	nt.)			
P50452	Binder Book A4 96 Page 8mm Premium with Margin Spirax	42		1	1.65	1.65
	TEXTILES					
	No additional items required.					
	VISUAL ARTS					
P56113	Pen Fineliner Black 0.3	43		2	5.60	11.20
P52001	Pencil (2B) Goldfaber	44		2	0.65	1.30
P52013	Pencil (4B) Goldfaber	45	5	2	0.65	1.30
P52014	Pencil (6B) Goldfaber	46		2	0.65	1.30
P56677	Visual Art Diary A3 60 Sheet 110gsm	47		1	9.95	9.95
	STEM					
P52114	Exercise Book A4 64 Page 14mm Dotted Thirds Spirax #107	48		1	1.45	1.45
	SCIENCE TECHNOLOGY					
P50450	Exercise Book A4 64 Page 8mm with Margin Spirax #106	49		1	1.30	1.30
	Number of Boxes ticked:					
	Postage (Home delivery o		ድስ ስስ			
	rostage (nome delivery o	uuy)	\$0.00	_		
	ESTIMATED AMOUNT DI (PRICES CORRECT AT 24/11)		\$			